Roulette Profit Calculator

= 1 + Total Loss: 59 Reset minimum profit: 3

Calculate

35:1 Straights 171 Splits 11:1 Streets 81 mers 51 Double Streets 21 Doden/Columns 1:1 Evens

Streets
Spots|Bet|Profit| Cost
1 5 o |6 59 units have been lost and the next win should gain at least 3
units profit.
L (TP A
3 7 S
4 8 |5 32
5 9 |4 45 Looking at the chart, we decide to go with 11 units profit on a win. So we will
6 11 17 66 place 2 street bets for $7 each costing $14.
7 136 91
] 16 |5 128 The Math
9 21 |14 189 cost = spots x bet =2 x7 = 14
w0 31z 310 profit = payout ratio x bet - total loss - cost + bet
TERIGRE 632 profit=11x7-59-14+7 =11




